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Setld : 47071_79 11Aug18_Batch4 D E
Section 1 - Paperl-General English

1) Choose the correct answer:
Time is running , act fast.

2) Choose the right option to fill the blank:
We went ahead with the idea the opposition

A) despite of
B) though

C) inspite of
D) even though

3) Choose the correct answer:
After a lot of hard work and savings, the businessman
had a lot of wealth.

A) received

B) lost

C) accumulated
D) donated

4) Choose the correct answer:
The figures were from three disfricts.

) complied

) complemented
) complimented
)

A
B
C
D) compiled

5) Select the right synonym for the underlined word.

While the evening showers brought relief there was misery
too.

) Joy

) Enjoyment

) Unhappiness
)

A
B
&
D) Ecstatic
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Section 2 - Paperl-Education and General Awareness

6) Which of the following properties is responsible for a water
droplet to assume spherical form?

A) Capillary action
B) Viscosity

C) Surface tension
D) Compressibility

B) G910 39 OINRIQ QU 6741 IR FARNYS 692 JI9ER QI
269 ?

A) 6@ Gl
B) eMIaal
C) ga9ie
D) @a1evsl

7) Which of the following commissions proposed that
teacher education must be brought into the main stream of
academic life of university and schools?

A) University Commission

B) Education Commission

C) Teacher Education Commission
D) Hunter Commission

7) @4 QIR @ FIRCA DI0Y S195Q 3 69199 d8a JAIRES
Q69 2IFRN AN 7¢) AYS 696 FFIAQ AL IR ?

A) F9GRL @daq
B) 491 @fiag
C) daq g «faq
D) 29 @adq

8) The organisation responsible for conducting large scale
surveys in India is

A) NSSO- National Sample Survey Office

B) NSO — National Survey Organisation

C) NSO - National Sample Office

D) NSSO- National Sample Survey Organisation

8) RIGE6A 924 ARIAEA ACITE FAR| 604 LF0RR AT

A) NENLB-RYARIRILRES 2T

B) Y99AB-HAFIPEE AT IFIRETAR
C) 994Q6-2YIQRIRIHR 2T

D) 8QIAB-MIARIQER 2TIRIRETAR

9) Which among the following is the oldest political party in
India?

A) Bahujan Samaj Party

)

) Bharatiya Janata Party

) Indian National Congress
)

B
Cc
D) Communist Party of India

9) FIRYS FUQ 69T NAVER AIYAIGE ANETR R 26T ?

A) 9gFe AR QIS

B) Q0912 890! IF

C) QIRQIA 91512 9°69<
D) Qqudg A ag ol

10) Which of the following commissions was appointed in
1952-53 to examine the prevailing system of secondary
education in India?

) Mudaliar Commission

) National Knowledge Commission
) Subrahmanyam Commission

)

A
B
c
D) Primary Education Commission

10) QIQSER FORE ARIAS J8I G4edIa 0adl @8Ql I 1952-53
60 FARYE 6aQ 9AA] F0R SRR ?

A) oA FAAQ
B) fIo1a K18 @7d]
C) 99r1de «6ag
D) gleifie d91 «daq
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11) Which of the following chemical compounds is the main
ingredient of Baking powder?

A) Sodium bicarbonate
B) Sodium carbonate
C) Sodium chloride

D) Sodium hydroxide

11) FIRYE FIQ 696 AANGS? AT IR 6AIPIRQ N QAP
265 ?

A) 6QIT0F IRNIETIERT
B) 6Q50¢ Q69169
C) 6QI5¢ 69017
D) Q1@ QI06RIFING

12) Who among the following officers is the first legal officer
of Government of India?

A) Union Law Minister

B) Supreme Court Judge

C) Attorney General of India
D) Sclicitor General of India

12) GORge 2RIRIAIRE FlQ @ QI0e AaRIeEa gaf g
YR 2SS ?

A) 692 219 AR

B) gdremIe JoIad

C) QUGS 2ITE 69659IR
D) QI9GR ARdeQ 6G60QIR

13) The Indian Education Commission (1882-83) which was
appointed to review the progress of education in India is
popularly known as:

A) Macaulay's Commission
B) Royal Commission

C) Ripon's Commiission
D) Hunter Commission

WtsApp/Call- 8596976190

13) QIe06a JNI0 2gta AN KG9l dIn HY8 ARSI Sl
GG (R CT 9-I M) 696 QIFI6R QGGG ?

A) fiasn @faq
B) Quim KFQg
C) Gag «faq
D) 24Q afiae

14) Which of the following charters stated that, ‘since the
wars begin in the minds of human beings, the defences of
peace shall have to be constructed in minds only’.

A) UNESCO Charter, 1945
B) UNICEF, 1945

C) UN Rapporteur, 1944
D) UN Charter, 1943

14) GORNYS FUQ 699 ITIILeR FLFINER 64 * 662F FETR
960 I8 2109 99, 604 480 dadl 6a9% 106Q GaIR 62C!
ARER I

A) 66T, 0CY8

B) 956, 0Cs8

C) f@e QIS AAAUSATAR, © %Y
D) §@e QI8 2°QQeR, € ¢y
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Section 3 - Paperl-Reasoning

15) If OUR is coded as 4, NEAR is coded as 5, then GEARS
will be coded as

oom2
S~

15) 9G OUR q 4 @162, NEAR g 5 Q169 6918 @@ AQIdIRg, 6669
GEARS q &9@ 6212 9@ Qaide

16)" lam Tom " is coded as " aa bb cc", "I sing" is coded as
" bb gg", then what is the code for 'sing'?

Dawr
oo
O owQe

16)"lamTom "q " aa bb cc” wIex, "l sing" q " bb gg"” @leQ
6919 G2 QAIIIRE, 6369 'sing’ § FUE 6717 9 RIS ?

>
o)
W

ve)
o Q
(o]

O
o

)
)
)
)

o
0
0

17) If INKPOT is coded as HOLQNU, then COBRA will be
coded as

17) 9@ INKPOT @ HOLQNU @I6Q 6918 99 @aldiog, 666,
COBRA g Q9@ 61g @9 aalde

A) DNCTB
B) DNCTZ
C) DNCSB
D) DNCSZ

18) What is the next number in the given series?
590, 1180, 1770, 2360, ?

A) 2800
B) 2910
C) 2900
D) 2950

18) 9eQ F16Q QI HIER IOee! LHIF 98 629 ?
590, 1180, 1770, 2360, ?

A) 2800
B) 2910
C) 2900
D) 2950

19) If WEED is coded as 529252516, CAT is coded as
91400, then HATCH will be coded as

A) 641400949
B) 6414009144
C) 641400964
D) 641400925

19) @& WEED q 529252516 @169, CAT § 91400 Q169 6@1g
@8 FANIEE, 6669, HATCH @dd 621 98 @qIde

A) 641400949
B) 6414009144
C) 641400964
D) 641400925
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20) What is the next number in the given series?
875, 867, 860, 854, ?

20) J9Q G169 g1 LHYIYFRR IR A°HIT @4 629 ?
875, 867, 860, 854, ?
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Section 4 - Paperl-Teaching Aptitude

21) What is student centered approach to learning?

A) teachers and students play an equally passive role in
the learning process.

B) teachers and students play an equally active role in the
learning process.

C) teachers and students play minimum role in the
learning process.

D) teachers play an active role in the learning process.

21) SRIUIR BIQ 6759 2B @6 ?

A) G968 9T960 94 8 FIGRIRKIEE AAIR FFa aFieI 6969
B) 814 ggaica §8e 6 2IgRIgKIEe AAIQ AR RHRI 6561
C) 984 gai6a S8Q 8 RIGRIQIIEE AT RARI 6761

D) §iRd 9I6Q S99 ATA RARI 6769

22) If students make unnecessary noise in the classroom,
then the teacher should

A) reduce internal marks of all students
B) change teaching strategies

C) give warning to parents

D) punish all students

22) 93 2IFRIGIIER 2RI9d4e AIFES @ad, 606@ J3a Ad @aa
o] ?

A) A BRISE 2IRISANE Alag FAREIER
B) 986 QQINg QORIRER

C) JoRIoIg 6991901 6969

D) Qg daig @4 6969

23) What do you mean by agencies of education?

A) All those organizations or groups which propogate the
process of education.

B) All those digital platforms which propogate the process
of education.

C) A group of govemment and private schools at each
levels which involve in educational activities.

D) A well established institute which propogates the
process of education.

23) 9910 A9l FLEM 2UI6F K¢ Q& ?

A) A92 A°FOR &9l 661R1 QITl QIR IRAIR 9eIR 9N *REIE
|

B) 499 G30IR QIETd Q121 9Ia 9FaIg 991Q 9QIa @523 |
C) g60i@ 9964 20 ARRIA1 6 A6RIR FMIRLQ 1@ AL
699669 931 AAIGASa Ag 2B |

D) @ gg6lo agaiq Qi) 919 daaig 9o 9aiq @5 |

24) Marxism is close to which of the following philosophies?

) Realism

) Naturalism
) Pragmatism
)

A
B
C
D) Idealism

24) QIGA]IT 699 9EF 92 FaTea ?

A) QI8RQIQ
B) 9g&ale
C) QYeRIeQIQ
D) ZledelQ

25) The term 1Q is the acronym of

) Inter personal Quotient
) Intellectual Quotient

) Intrapersonal Quotient
)

A
B
Cc
D) Intelligence Quotient

25) 2iagia Jl FIIT Q6 26T ?

A) BT A&
B) 6qlaw M8

C) QIQ9de a8
D) RIeRE
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26) Which of the following is a suitable way to know the
reason for weaknesses of students in a particular subject?

A) using feedback techniques

B) gathering information from parent
C) conducting remedial teaching

D) conducting diagnostic test

26) 600N JULER G64l BIGR YIR0IA Fld IS AR FRe
Q12160 606 6298 QUYS FAKkIA ?

goGal 6991q i eTIq @RSl
deIrIgle OIQ 9ol A°ge Qaal
JoRIa)ee S84 ZIcIen Gasl
6RQIGQ OQIBE AR @GS

A
B
Cc
D

— e o

27) Who said," Education is a natural, harmonious and
progressive development of man's innate powers."

A) Pestalozzi
B) Spencer
C) Froebel
D) Freud

27) @9 @26m 60 ‘R 6208 F19IQ ALEP A 9@ JI9ER,
aeaIegd 1e° geGein Sai8l I

A) 692I6RIG
B) 69949
C) 6gl16aa
D) sgeQ

28) A nurse is highly motivated to serve and she is eager to
learn everything about her profession.Which of the following
laws explains her state of mind?

A) Law of Effect

) Law of Exercise

) Law of Readiness

) Law of use and disuse

28) 966 @d 699! @AQI TR Y AF 6J9EI RN KRS I° 6d G
6941 FE060 AL 9l AR Qg AGE | PIFa AIRde 29Iq
SARNYS 699 FAAT IS FER ?

A) gelea Fae

B) gealga Gae

C) Q2a2IQ Gof

D) @J6QIa 6 QQU6QI9 2GRIa Fad

29) According to Skinner, conditioning takes place on the
basis of

A) response

B) new concept
C) hereditary
D) stimulus

29) AQee AGUIR, AGYRR 671 ARIFER 6TIREIN ?

A) g5

B) qaIqegeg
C) 21ge-da
D) e@K@

30) "Education as such has no aims." is said by -

A) T.P. Nunn

B) Herbert Spencer
C) John Dewey

D) Mahatma Gandhi

30) “GRIQ 699R @8 AR QIF |" 12l 34 QTLeR -

A) 6499

B) 296 63949
C) 9] g%

D) ALIql Q91
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Section 5 - Paperll-Odia Language

31) ‘@R’ 6 ‘Y’ 40Q CINAQI IR AR RN |

22) ‘291 690IQ1Q IR AR’ ASC COU 226Q QUQRS §4?

A) a6Q&al
B) 20488 29I
c) 2941 90|

p) ksl

33) ‘eRA6R Fic0Q YRRl Q8a 22 @’a ?

A) A60QQ AL ACRARUQQ!

B)

C)
D)

caIQ QI
oK AALI

g @8I

34) 8012 9 a1 6auISe 0ot 6o Jeaaa ?

A) R0l 9688

B) 294 §6a84

c) F6686Q F6aaa
D) YRR Feaaa
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5 ‘0606 @ 9QIR AU ?

A e

B) Qfe Qee

o) Sememl

D) Q89 9oQ

36) ‘008’ QWA AR 99 ?

37)

p) P8 226R

g) S0Q10 226
c) W2k

D) Q8O 226Q

Download Tech Of World App

‘FIDQAL’ AA6A ‘@I’ RAQAT QW AAUCA QIQRO 6RIQAN ?

) 6@ Q0Q 40 2RAINS RIFIQ QAL A6CE ?

WtsApp/Call- 8596976190
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20) 6QE6 QO §6484 ?

Aee eRie
Qlfey @2l

#1) AL 3F Q0IRA ANACA FRQ AARNIA QAT VIFCA QLA OIQ @’ 6 QRIAN ?

pA) 99YQrRR
g ASRIQres
c) 88YQrQeR
D) @QYIreR

42) QRIQ’- & ALIR AR ?
py RERAIR
a6Q8Q
c) F410Q
D) QYRR

43) ‘@089’ 406a ‘@0’ QaAd QW AR QIR ?

p) 2990,
B)a@d

c) R99R
D)aﬁaﬂ
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44) 6REC ‘9P ’Q 9OaQ Q6F|

A) @dval

B) Jdaee1
c) 90ee

D) Sl

e
29 )g
s
)
an
g

De
&N
&)
f‘.l-‘:;
ad
fc)
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Section 6 - Paperll-Mathematics

46) If after offering a discount of 5%, the selling price of an
item is Rs. 200, then what is the marked price on the item?

A) Rs. 215.55

)

B) Rs. 205
C) Rs. 210
D) Rs. 21053

46) 95 5% QLIE G2IKIY, 691 FETa §F FmY 62@& 200 o,
6069 9T GHIR IRIQ 99 6966 ?

A) Rs. 21555
B) Rs. 205
C) Rs.210
D) Rs. 21053

47) What is the compound ratio of 16:5 and the subduplicate
ratio of 9:47

48) For any two sets A and B, which of the following
equivalences is FALSE?

48) 691 67160 GRF 699 A 9e° B QIR F66I9 669 AAGAIG! QR
2I6Q ?

49) A system of equations is said to be inconsistent if it has

) only 1 solution
) only 2 solution
) infinite solution
)

A
B
C
D) no solution

49) A€ UQLIY 2L ﬁi@@@‘ 4% Q191

A) 6997 69IIGN QAR &S
B) 6097 Q@b QRIS 89

C) Q¢ QAL <
D) QFRIP QIF

50) The sum of squares of two consecutive natural numbers
is 313. What are the numbers?

A) 11,12
B) 10, 11
C) 12,13
D) 13, 14

50) 9@ 900 696 ey Qoa AN 62ed 313. 666 6dF
LHIYED @6 263 ?

A) 11,12
B) 10, 11
G 18,18
D)

13,14
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P I L R

51) If three parallel lines are cut by a transversal, how many
pairs of angles are formed?

2
0

o0Om>
W o = =

)
)
)
)

51) 93 GFF QAIBAIR 696 9@ AGIY FIQI 68 T4, 6969 6R68
641Gl 62161 QT 629 ?

A) 12
B) 10
C) 6
D) 3

52) Supplementary of an obtuse angle is always

) obtuse angle
) acute angle
) right angle

)

A
B
Cc
D) vertically opposite

52) g xR ‘E]@‘Qf&liﬁ‘ 6916 496ReR U@

A) 97 6214
B) 41 6@
C) Q9618
D) RQeQ Fae

53) A set P has p elements and set Q has q elements, if the
number of subsets of P is 56 more than the number of
subsets of Q, then

~wo o

San®
T TT
o000
[l
O WH

53) 691I5° 625 P6Q QQIRIE Q°HYl 6208 p B 64T 645 Q6R
QAIQIL Y 6268 g, U8 PR AI6AF QY Q0 INEAF AIMI0IR
56 2l2)@, 6569

A) p=5, g=4
B) p=6, g=3
C) p=3,g=6
D) p=7,9=4

54) The largest number that divides 245 and 1029 by leaving
remainder 5 in both cases is

A) 29
B) 18
C) 16
D) 49

54) Q2Q QS QIL1 245 49° 1029q FRIFE @61 1e° 200 6336Q
5 QIGEST Q6% SIgl 98 ?

A) 29
B) 18
C) 16
D) 49

55) The square root of (0@ + 1/x2 )% - 4(x+ 1/X)? + 12 is

A) x+1/x+2
B) x2-1/x¢+2
C) ¥+ 11¢-2
D) x-1/x+2

55) (x® + 1/x2 )2 - 4(x+ 1/x)*+ 12 Q G‘Giﬂj? e@ee

X2+ 1/ -2
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56) The largest number which divides 615 and 963 leaving
remainder 6 in both cases is

A) 8
) 8
) 8
)9

= -] O W

56) @29 A"yl A9l 615 99° 963 @ FAIGe @G QEL 6TGER
VIFES 6 R6H, IR A 26T

57) ABC is an isosceles triangle, such that AB = AC.
Circumscribe this triangle by a circle. If the base of the
triangle is BC and E is the centre of this circle, then

A) 2BE = EC
B) 3BE = EC
C) BE=EC
D) BE = 2EC

57) ABC 6208 @ A0§1g 589, 28IQ AB = AC. ¥ Gpeq 1@
Q8 TR JERYS Kag! 9F SREa akRIg BC 9e° 12 989 6w9 E
26T, 6669

A) 2BE=EC
B) 3BBE=EC
C) BE=EC
D) BE=2EC

58) Two numbers are in the ratio 4:5, if 7 is added to each,
the sum are in the ratio 5:6. What are the numbers?

A) 24 and 30
) 24 and 32
) 24 and 35
) 28 and 35

B
c
D

58) Q@5 QG 4:5 AGUIGER 2F, UT Y6S4RT6R 7 619 @QUIRE,
UQAIGR ANT 6208 5:6.606Q A°HIGFR Q4 26T ?

A) 24 <e° 30
B) 24 Q° 32
C) 24" 35
D) 28 9e° 35

59) A shopkeeper purchased a commodity for Rs 540 and
sold at Rs 360. The loss persentage was

59) @64l 621RIR1 651G FEaG 540 SwIea @8 360 SIEa FRER
1 92J6Q AFQ JGED 6065 ?

A) 33.33%
B) 50%
C) 30%
D) 34%

60) V147 + ¥27 =
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Section 7 - Paperll-Social Science

61) Which of the folllowing types of farming is done on an
extensive scale for production of single crop only and is also
called bush farming?

A) Contour farming

B) Subsistence farming
C) Plantation farming
D) Terrace farming

61) FIAYC 699 OI1A 60IGN QIR VAR AQIF TR FQUANT G
2Ig QI QI8 F1 QRIA ?

A) aReed g8
B) GQI2 98

C) 98 Adlaal Q8
D) RIQd6a 98

62) Which of the following options divide the earth into
Eastern and Western hemispheres?

A) Tropic of cancer
B) Arctic Circle

C) Equator

D) Prime meridian

62) FeAlI® 696E Q2919 QAR Y9° B4 6OININER T8 @58l ?

A) 995 QI8

B) ¢eng q@

C) Qg% 6l

D) QIaf 6918647 (B8] 89 gIEal)

63) The Prime Meridian established in 1851 by Sir Biddell
Airy is based at

A) National Aeronautics and Space Administration, US
B) World Health Organisation

C) Royal Observatory, London

D) Indian Military Academy

63) 1851 ¢dgica QI F6em Y9G & 9o 9980 621989 gIRF]
6715E4] 600 2198 Bl 62

A) QAR 16T 14 699 2IeTFe]AR , §4g
B) G4 9194 Q°Gl0Q

C) QIR 2AQEHT6HIR Age

D) «daR fRsial aased

64) The concept of Directive Principles of State Policy was
borrowed from the:

A) American Constitution
) British Constitution

) Irish Constitution

)

B
C
D) Geman Constitution

64) QIgY A166 Feudq ARIS RRlITY 6aa AAIIGR ARG ?

A) 6T QRIS
B) §5¢ arali@
C) ZIgiRIg QRIS
D) @fig1 qfaIe

65) The Fundamental Duties under Part IV-A were added to
the Indian Constitution based on the recommendations of
the:

A) Udesh Kohli committee
B) Abid Hussain committee
C) Swaran Singh committee
D) Chore committee

65) 694 @F6R JeIe 29I QIRG1R ARUIFER KIG IV-A 2R)G6R
6419 @EIQY 691G FRAUAIRE ?

QA60E 62120 KA
2T 262Q FFG
qeq de 98F
69160 @15

A
B
C

)
)
)
D)
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66) Which of the following terms describe the movement of
the Earth around the Sun in a fixed path or orbit?

A) Revolution
B) Rotation

C) Gravitation
D) Inclination

66) FORGE 696 995 gy GIRT6E IR Fa0E | RATLIER YAUSIR
A5q adql @G ?

A) JRgae

B) gde

C) feieds

D) &xldiadld

67) In which of the following parts of Indian Constitution are
the provisions to establish Panchayats mentioned?

A) Fundamental Duties

B) Fundamental Rights

C) Emergency Provisions

D) Directive Principles of State Policy

67) QI0S1Y AN 669 2°E6a JBING IIea gIeNIR §EL6a
QERY 2T ?

A) 6dlaq QIda

B) 6dlaa 2RjQIa

C) 21918 2IMe U4l

D) QIa¥a 918 F6546@ 69

68) Which type of water helps in the survival of Mangrove
Forests?

A) Polluted water
B) Saline water
C) Distilled water
D) Acidic water

68) 62817 @4 3R QIol 67Q gRIA QI8 ATIOR g4 ?

A) 9980 e
B) @i Qi

C) Q6810 8%
D) IS G

69) Which of the following periods is marked by the
prominent usage of both stone and copper?

A) Mesolithic Age
B) Paleolitic Age
C) Chalcolithic Age
D) Neolithic Age

69) G6qlIp 699 0 ARQ J2Q IS° 9IF @ 92 QIGEIR IR 559
gml ?

A) 911 g9Q g8l

B) gaIoq gea ge
C) oi9 9@

D) go¢ 92a g9l

70) Which of the following events marked the beginning of
Civil Disobedience Movement in 19307

A) Dandi March

B) Satyagraha at Champaran
C) Rowlatt Satyagraha

D) Non-Cooperation movement

70) 1930 ¢dgeiEa F6AI8 67¢ A4l ZIRE ZAIRY ZEARFA
J8aIe aRl?

A) @8 Qe

B) 9I6€ 068 AMIGR
C) 6QI8RIg ANIGR

D) 21A26QI3 2IERIRE
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71) Which of the following vedas, describe the way in which
religious rituals and sacred ceremonies should be
performed?

A) Rig Veda

B) Atharva Veda
C) Sama veda
D) Yajur Veda

71) GORYE cRagee R 6autta dfie §0a1@ 8 ade
QrIcQIEgEe ada AaIde, G121 Qdal @58 ?

A) 9@ 69@
B) 22< 699
C) AKIEee
D) 9g 6%

72) In a three-tier Panchayati Raj System the unit at the
block level is known as:

A) Gram Panchayat

)
B) Panchayat Samiti
C) Zilla Parishad
D) Grameen Samiti

72) 9% 52K QILFIER G 19 TG 998

A) giq aBIge
B) Q8100 9fiG
C) @nl 0d@e
D) glicle QFE

73) The boundary between the crust and the mantle is
called:

Guttenberg boundary
Lehmann discontinuity
Conrod boundary
Mohorovicic discontinuity

A
B
C
D

WtsApp/Call- 8596976190

73) Q124 2IQad , 9L° FIEm (91 IR QY J0Q Q2 LK IER F1g
Qg ) 160 &R ARG FRILIN

A) §65Q @4 Qiell

B) 6% 6] 2A°QRS)

C) @6gie Q19

D) 656216QE8a BRG]

74) In which year did the Government of India launch the
'Project Tiger' with the aim of saving the steadily declining
population of tigers in the country?

A) 1975
B) 1973
C) 1974
D) 1976

74) 6049 A132168 QRS AAFIQ 69T, AV QA FAY6ER, LITIR
AYY 69 6QE6Q 96 956R 2 ARG 1A AFIG IeFe 9QQ! ?

A) 1975
B) 1973
C) 1974
D) 1976

75) Who among the following freedom fighters threw a bomb
inside the Central Legislative Assembly against the passage
of Trade Dispute Bill?

A) Sukhdev

B) Rajguru

C) Bhagat Singh

D) Chandrasekhar Azad

75) 46 Gl GO ANE TQR6R 6aQ IRIIGSI A°GIAT, 69R1S
QIR AR F1ER 6N F6BIQE ATIR 2J6M ?

A) Q8699
B) alggQ
C) aele &
D) ©F 64%a AIRIQ
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Section 8 - Paperll-Science

76) Identify the CORRECT order of reagents used for
Gram's Staining

A) Crystal violet, Gram's lodine, Safranin, Alcohol-Acetone
B) Gram's lodine, Safranin, Crystal viclet, Alcohol-Acetone
C) Crystal violet, Gram's lodine, Alcohol-Acetone, Safranin
D) Gram's lodine, Crystal violet, Alcohol-Acetone, Safranin

76) Qi & 6886 A9 Q4920 gERI0aa A0R §AGER 590 @08

A) TN QB GIF & 2ICLIEY, AITIHG LINsRIen-93601e

B) gifl & 216G, ATIHG 8IR QIBeRd, ZINERIEN-Id63IR
C) T8In AGEAS, 9IF & ALY, AINERIIN-1T691R], TR
D) QIfl & 2leEe, §8In QIB6RE, ZINERIEN-IE601R, AIFIFR

77) The arrangement and distribution of flowers on the floral
axis is termed as

A) phyllode

B) inflorescence
C) spines

D) Tendril

77) 49 @4 @6 9el IRl N9° 940 @aldIRg)el Fng QeI

A) TFemig
B) q8¢

C) ergas
D) ol 6

78) As seen in China rose, the stamens may be united into
one bunch or one bundle it is known as

A) epipetalous
B) diadelphous
C) polyadelphous
D) monodelphous

78) QIRA| 601 /6GINILER 6QHIAIRRIQ! BIEAF , 651G gg @9l
60lIGN GI16Q R0 621R2Q1 ARG GRIVI :

A) d6agismIq
B) elgliceng
C) a@zIeenq
D) 6ele6end

79) What is the chemical name of baking soda?

A) sodium hydrogen carbonate
B) calcium bicarbonate

C) sodium hydrogen chloride
D) calcium oxide

79) 6Q@6" 621619 AAIARD FIF1 QP

A) 6QIG26 FINELIER] FIERIERT
B) @4nd2e QIR QI6RI66T

C) 69520 2IR6FIERR 6RARNG
D) IRdae 2910w

80) 1kW is equal to how many Watt?

A) 100W
B) 10000W
C) 1000W
D) 10W

80) 1kW QIR 6@6% €IS ?

A) 100W
B) 10000W
C) 1000W
D) 10W

81) Polymers of D-glucose units in cellulose is linked by

A) beta 1-6 linkage
B) alpha 1-4 linkage
C) alpha 1-6 linkage
D) beta 1-4 linkage
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Ayt eamners e e e e nmine

81) sdquenIese D geale 19w RN QIR A8e QLB Ll
eeml

A) 321 1-6 96
B) g 1-4 @G
C) aig) 1-6 @
D) Q¢! 1-4 @&

82) When forces acting on a body from the opposite direction
do not change the state of rest or of motion of an object, such
forces are called as

A) balanced forces

)
B) mass

C) unbalanced forces
D) velocity

82) 606G6R6R IR Q¢ AU6Q FUAIG IR Y FREYR AR IR
299 2991 @91 65 Q9PN AIF, 697 ARg A4 RIAN ?

A) dgFe aF
B) /g

C) 2aghe oF
D) Q6sas

83) Cell wall of Gram-Positive Bacteria is made up of
which of the following components?

A) Peptidoglycan
B) Cellulose

C) Pectin

D) Hemicellulose

83) giF-0GFe QIRKYa 6AIFR QR IR 69Q
QUINGGEREa AR ?

A) 60aGeoRRIR
B) caqeniq

C) sade

D) safisagenis

Join Us-

84) According to equation of state for real gases, real
gases show deviations from ideal gas law because

A) negative interaction of molecules with each other
B) no change observed on movement of molecules
C) repulsion of molecules with each other

D) molecules interact with each other

84) g9e SiIq AR 2LRIQ ANRAE AFAIER , IgF I , 2ILE
I FRAA OIR TS @6, RIRE

A) 601IRQIN YER IR FIUER FAG 2RFA @97

B) 601RQYR @ 99060 6T19T AGQER A @IAN RIF
C) 60Rgum Ieea Fadd

D) 601RQ4R JE@ I0IQ FIER 2RF QO

85) Simple alkyl halides and methyl halides reacts most
rapidly in Sn2 reactions due to presence of only

A
B
Cc
D

one small hydrogen atom
two small hydrogen atoms
four small hydrogen atoms
three small hydrogen atoms

— i

85) AIRIQ AUEE 6015 ARINE AINGN IR 9&° F2Ian IRQ
, SN2 9OFRI60 &8 d1E 9TREIR YT , Il 6T

A) 9% 6816 LRNCL DT ARG
B) 9@ 6816 2RELIETR AC1E]
C) 913 6316 2IR6LIER] AR
D) 88 6810 219681658 QK]
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86) Which of the following statements is TRUE from the
following options?

Lower atmospheric pressure in higher altitudes area is the
reason for:

1) liquids boiling at lower temperature compared to liquids
boiling at sea level.

2) liquids boiling at higher temperature compared to
liquids boiling at sea level.

3) liquids boiling at the same temperature compared to
liquids boiling at sea level.

A) option 1 only
B) option 2 and 3 only
C) option 3 only
D) option 2 only

86) F67lIe @8 GRT AR 699C ARy 26T ?
g9 98 01 @6 AR FINTER G¢ FIYAERD TR FIGE!

1) AFQ TRL 06Q AR Tk GIRIT 0IQ |7 FITAIGIER TR
369 29

2) ag9 48R 06a SaR dLld gEaIR OIg Q% SIS 99
GeQ 99

3) QG 9aR 0168 S6R T9IE FRIE OIQ AR FIAFIZIEH F79
369 249

A) 6a9% Gaal
B) eaen dag 26 3
C) 6aeq Gag 3
D) eran Qe 2

87) What is the accleration produced by a Force of 16 N
exerted on a object of a Mass 2 kg?

A) 4 m/s?
B) 6 m/s?
C) 2 m/s?
D) 8 m/s?

87) 2 kg Baaa 98 9g QU6n Jerlidl 62102l 16 N @f FIal
YR 69 QAE 6R6E 26T 7

A) 4 m/s?
B) 6 m/s?
C) 2 m/s?
D) 8 m/s?

88) In the chloroplast, thylakoids sacs are arranged in
stacks known as

A) outer membrane
B) stroma

C) cisterna

D) grana

88) 6QUEAIYRER, RACANG QUIF @ GF66 AT 2R
QEE QLG P4 QRIKN

A) Qigy Eq1
B) sge

C) daeedl
D) giel

89) Which of the following organ helps in locomotion in
Bacteria?

A) Ribosome
B) Cytoplasm
C) Flagella
D) Vacuole

89) QIRIgR 677 IR 699 2 AL FEQ ?

A) Q618QIe|
B) aiqeql QIg
C) qeaRl

D) aquiq1
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90) X-ray of wavelength 2.38 Angstrom strike a crystal
and observed to be deflected by an angle of 30°.
Assuming that n=1.17 calculate the spacing between the

plane of atom in that crystal, that are responsible for this
reflection.

A) 4.76 A
B) 2.38 A
C)2.78 A

D) 2.34 A

90) 2.38 2G| CATETLIR YF-6Q I 3R] 2IAIG 6aM IG°
30° 6918 QERIC 62102 AYY FAULIRT | 7168 @@ N=1.17,
606R 699 ITRER AR AR FIRIEA ARG AL FAg LR
I8 eI AIQ QIR |

A) 476 A
B) 2.38 A
C) 278 A
D) 2.34 A

JoinUs-' > f
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